Answer sheet about multiplication

Date: 11.08.20

In 1 bench sit on 3 students

So, In 4 benches sit on (3x4) students
=12 students.

Ans: 12 students.
2.

In 1 plate 5 tomatoes
So, in 4 plates (5%x4) tomatoes

=20 tomatoes

Ans: 20 tomatoes.
3.

In 1 plate 5 lychees



So, In 6 plates (5x6) lychees
=30 lychees.
Ans: 30 lychees.
4.
(1)
1 pack of biscuit costs 2 taka
So, 7 packs of biscuits cost (2x7) taka
=14 taka
Ans: 14 taka
(2)
3 more packs so (7+3) packs=10 packs
1 pack of biscuit costs 2 taka
So, 10 packs of biscuits cost (2x10) taka
=20 taka
Ans: 20 taka



In 1 rickshaw 3 wheels
So, In 5 rickshaws (5x3) wheels
=15 wheels.
Ans: 15 wheels.
6.
In 1 plate 3 guavas
So, In 4 plates(3x4)guavas
=12 guavas
Ans: 12 guavas.
7.
In 1 car 4 wheels
So, In 5 cars (4x5)wheels
=20 wheels.

Ans: 20 wheels.



In 1 week he works 6 days
So, In 7 weeks he works (6x7) days
=42 days.
Ans: 42 days.
9.
In 1 group 8 students
So, In 6 groups (8x6) students
=48 students
Ans: 48 students.
10.
In 1 basket 9 ruits
So, In 4 baskets (9x4) ruits
=36 ruits

Ans: 36 ruits.



11.
In 1 day he reads 9 pages
So, In 7 days he reads (9%x7) pages
=63 pages.
Ans: 63 pages.
12.
1 man have 10 fingers
So, In 8 men have (10x8) fingers
=80 finges.
Ans: 80 fingers.
The end






